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glBegin(GL _LINE _STRIP);
for(double x = 0; x < 1.0; x += 0.01) {
glvertex2d(x, f(x));

}
glEnd();
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y = rsin(t) = rsin(2nt)

glBegin(GL_LINE _STRIP) ;
for(double t = 0; t <= 1.0; t += 0.01) {
glvertex2d(fx(t), fy(t));

}
glEnd();
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« STL D vector 2 S AHMEF
- LD D (TEZ S
« RYCTH A X%ZIBTEIT DINEHRL)
- EXRDIEN & HIBRHEE

[CEE] [C++]

Il

#define MAX_ELEMENT_NUM 100  #include <vector>

int numPoint = 0; // ERD#%icikx  std::vector<Vector2d> points;

double x[MAX_ELEMENT_NUM J; points.push_back(Vector2d(1.0, 2.0));
double yJMAX_ELEMENT_NUM J; points.push_back(Vector2d(3.0, 4.0));
x[0] = 1.0;

y[0] = 2.0; /| C++11 755
x[1] = 3.0; /I points.emplace_back(1.0, 2.0);
y[1] = 4.0; // points.emplace back(3.0, 4.0);

numPoint = 2;



STL D vector M{EAH

#include <vector>

std: :vector<vector2d> points;

// 1B

points.push_back(vector2d(1.0, 2.0));
points.push_back(vector2d(3.0, 4.0));
points.push_back(vector2d(5.0, 6.0));

// REDHI
points.pop_back();

// BRBDOUEE

unsigned int n = points.size();

// BEXROWE
Vector2d v0
Vector2d vl

points[0];
points[1l];

// BEFRDERIFR

points.clear();






